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However, that which 32m1 29 stated — JAMTI 29 TART KT RON

OVERVIEW

The &3 seeks to prove from the ruling of am1 27 concerning 'no* NINAW
that a X1nR 7w is not XNYAWR 7°wr. Our MdOIN offers two interpretations
how we prove that XDY12WR 7w K7 R1INAR W

mMooIn asks;
—209nWn 393 NI XN DN

It is astounding! For here also he is wonnwn?!

mdOIN answers:
— DU NYIAY 29NN 1INI 297 990 YN

And one can say; that 1'' obligates taking a no>7 nynaw -
—0INYIR 7Y YT NIN S9YW 7993 XINY YONN NT 9N 1WINY NN 199N

even in a case where the claimant states, ‘this object which is in your

hand is mine’, where >vn2R is not applicable. Therefore we can prove that
RIMPR WM is not RNYIAWR Twn.
— MYPIPN DD NMAY PP IYNY PNI IXD 39 W 19

And 1IR3 87 29 similarly interprets the rule of 1"7, that we administer a

noo nyvaw for real estate -
—50NYIN 112 7Y NYT 23 YY 9N

even though >uyanwx is not applicable to real estate.’

mooIn has a difficulty accepting that no 7 NY2W is given even when there is no “VANWN:

" The x»3 in 2,2 nwaw regarding the mwn which rules that a 937 7213 is w2 from a 7v1AW cites the
following: X 7T 71277R POV W 12 OK XOX Y210 Q7R TR TP RV SR N0 T NYI2W INIR 7PY°2Wn 1271 27 X
7% vnnwn NP7 X7 0MNWKR 1210 5y2 7192 1710 1yn 07X, There is a N0 V1AW 210 even by a 3"m> because a
person will not claim that he is owed unless it is true; and even though a person is not 15 1y, nevertheless
he swears because he is v»nw» (and is not considered a 1°vn).

* See footnote # 1 that even a 2"m> is considered a vanwn. He is therefore not a X1mnx Twn; he plans to
eventually return the money. How can we prove from 1"7 that a X1%nR 7w is XpyawR 7wn?!

? The item either belongs to the pimn, and then there is no purpose for him to swear. If it does not belong to
the P17, then he is a X11KR 7w, for there is no reason why he does not admit the truth unless he intends
to steal it. The fact that we make him swear proves that even though he is X17nX 7w, nevertheless he will
perhaps not swear falsely, but rather he will admit and return it to the rightful owner.

* If a person is in possession of property and another claims that it is his (but cannot prove it), the one in
possession must nevertheless swear a No°7 N¥12w that it is his.

> sumnw K is applicable only to something which one owes and it is not present. However something which
is present, such as ypIp, he is either saying the truth or he is lying and is a X1mnK Twn.

® See 7"nb "7 X, MooIn that by vpap there is a "vmnw Rk n¥p'. Perhaps m»doin means that there is not as
much possibility of *vIMnw R by ¥pp as there is by 120707 (see 7" W 0"mn).
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— (PVNYIN ANNN M7 oW 3,0 97) DINTH NIV PI9T DYP)H

And it is difficult to accept this, for in 5159777 ny12w 9D -
—VINNYIN DIVN KON NN NYIAY 29NN NYT yIvun

It seems that that the obligation of ne>7 n¥12w is only because >WYANON -
—"05NUNT UM PYN DN PN NAITIR 7099 NPT

For the X1 challenges the premise of N9’ n¥2w and argues, ‘on the
contrary a person is not 15 1p»’ to be a 9377 1915 so he must be saying the

truth, and the X1 answers, ‘that he is not a 1°19 1y» for he is wynanw»’. It is
evident that when ©vanwn is not applicable there is no NO°7 NY1AW (since 17310 7Y R"X).
How can we therefore say that there is a N9 N¥12W 21°1 even when there is no VAN R?!

N1B0IN answers:
— %1539 2199 RY Py NINWI N DIANYN PP IIRYAT 113 99 U

And one can say; since when the item in question is not present (such as a
loan) we assume that he is wnnwn» and therefore they made a 7ipn that he is
required to swear, so even when the item is present (such as ¥Yp7p or 77 yon

772v) the 3129 did not differentiate and he also is required to swear; thereby
proving that R1NR W is RIVIAWR W KD.

mooIn offers an alternate answer (to the initial question):

£ NN 29T NIVIPN 9) ON
Or you may also say; that the X723 was depending on the proof based on
the ruling of '3, but indeed there is no proof from 1".

SUMMARY

We administer a no>7 n¥2w even when there is no possibility of “wANw KR
proving that a X1mnR 7Wn is XNMAwKR 7wn X7, Alternately there is no proof
from 1" concerning X"noXM.

THINKING IT OVER
1. Is there a no*1 ny1aw if one claims X7 5w 17 ypp?”

2. According to the second answer how could the X773 mention 1"7, when 1"9
states that the 7¥12w is on account of *vInwx?!'°

7 See footnote # 1.

8 The initial mipn of novn nyaw was made by a M where vNYR is Tw. However once the o°nom
instituted N0 NY12Ww by mM>n they included all cases even where there is no *vNYK.

? See .

' See "X #10.
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